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And if it is because — 77792 9279 MY XM 12 AR NP 2 INY
of nyv>w; so then we have found a 579°2p =227 v

OVERVIEW

131 " maintains that the rule that a 7% 1s 722 (for its owner) is because the
7% is considered as if it is the hand of the owner (and therefore a 7w who
has a ‘hand’ to receive her v3, can also receive her v3 through her 2% or
through her nnR '7). w°p% W™ maintains that the 2%n is considered as an
agent of the owner (and therefore a 717 who cannot assign an agent', cannot
acquire her vx through 7%1 or MK '7; but only if it is placed in her hand).
The X3 challenges the view of %" that “X23nX mmow own xn. We find
that, regarding a 213, the 710 holds him liable (for 993) even if the 72°3) is
found in his 7xn1. We derive this from the 2105 of (72°137) 17°2 RXnn X¥17; this
includes 17°¥m w. If we assume that 7¥m is mmow aywn, it will turn out that
there can be a m%W (the 7¥n) for an 77°2y (the 712°13) and the rule is that "X
772y 727> mow.” This is the question of the XT3 on " who maintains xn
mmow avon. Our Moo explains why the X713 could not have proven that
qXr7 is not MPow avvn (but 70 aYwvR) in a simpler manner.

nooIN asks:
— "9 nNYHY 1PNT NIN NNy 7298 D79 9NN ON)

And if you will say; why is it necessary for the X712 to prove that 7xn1 was
included (because of 7 and) not because of Mmm°%w, based on the ruling of

9w PR, etc. which would contradict the concept that %1 is Mm>w ovwn -
— 31159 DM 98N INIINNTH N2 NY ININ

Why did not the X3 prove that *X270KX 7> 2wn 7817 (and not MY DWnN)

since %17 was included from the 2199 of 17%; indicating that 7%n is an extension
of 17°.

mooIn proves that we can know that *X27nX 7° 0w» 18 based on the T1»° of the pos:
— D757 NI NIINNTI INIINON N7 DIVN I8NT N1 V) 22) 11902710

As the X713 will shortly prove by v that >X239n°8 77> 2% 937 since it was

' See *>11"7 >"w on this Ty

*If a person appoints a 9w to steal for him; the 7>wn is not liable. Why is he 271 if the 72°3 was acquired
by his 1¥r, if his 2% is (merely) his m>w.

> We derive 731 71 by 12713 from the 109 of 7727137 17°2 X¥nN R¥M7 meaning that 7% is an extension of 17°
(especially according to the previous 2"n 71"7 moon, that 1% is derived from a %231 ¥791 973 and we include
9% as v Y2 of 17, so it should be obvious that *X27nX 7> 21wn 7). See “Thinking it over # 1.
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included based on the 109 of 717 -
— N9y OV Ay XYY

And the X713 did not use any additional proof. The same should apply by 7221,

Mo0IN answers:
— A9 NaNN NN 1027 9397 U

And one can say; that later the X713 proves that 77 21w» %17 (and not 2Ww»

mn5w) based on what the Nin rules (but not based on the fact that 77¥m was

included from 777°; for that proof is insufficient, as evident by the X 13 here) -
- 611)\7‘,7 N1 ITON IN NN YY1 179N WIINNY N7 N8N NH) DAY

For the Xin includes 3a2m 1733 to be like 77° that she should be divorced

even against her will or even if she is a 73¥P by her 7311 as well as by her 7, this
proves that 77> DWwn X7 -
— M3 K9 NN93 Y3 NYAINN NNYN RY MNYY DYON SN

for if %1 would be included nws>w aywun she would not be divorced >'"y2

and not when she is a f3wp. This proves that 7 ovun 73m.
— DT NI NIINY HIYON X NIN YaN

However here (by 1712°13) we cannot derive that 7¥1 is 7> ayvn based on the
"127 of 1%r -
8:1\9‘,7 NN ON NDY INID Hya NN NP 1PN 17193 I729NT

for even when the 7213 is 1792, he cannot acquire the >''va ;712°13 and not if
he is a Jup.

SUMMARY
We derive that %711 is 7> 21wn from the fact that 71 accomplishes all that 7
accomplishes by w173 including 71vp *w17°3 and 2"va Pwra. It could not

* MpoIn assumes that the X3 maintains (on the bottom of this 7n¥) that by vi the 7% PIp is 717 21wn based
solely that the *121 of 7xn is from the 109 of 37°2 1011 (and not as *"w1 explains it there 770 7"72).

> Mmoo no longer presumes that since the *12> of 7¥m was made from 7, that this means that 7% is 7 Dwn.
See ‘Thinking it over’ # 1.

% The xn>12 does not mention explicitly that 773 is 3"y2 7P or that it is 7P by a mvp. Rather Mmoo is
saying that the Xn*"2 teaches us that by vi all the laws that apply to 77> apply to 7771 as well. We know
that a woman can be 3"y2 nw» and that one can be w1 a mivp (with 77°); these 1"w17°) can take place
through 771°xm as well as through 777°. This is the 7%°% of 77°2 1n1.

7 A m5w cannot be appointed against the will of the m>wn, and a minor cannot appoint a m>w. We must
therefore assume that if 231 effects w13 in these cases, it cannot do so as a 5w, but rather as a 7> of the
woman.

¥ The "2 (of X¥nn X¥»77) teaches that 78 can accomplish whatever 7> can accomplish. However a 233 is not
liable if the 72°13 is placed in his hand 3"¥2, and similarly a 213 who is a 9P is also not liable. A 213 is liable
only when he steals willingly and is a 2173. In these cases he will be liable by 1% as well; however it can be
mmbw ovvn (if not for the rule of 7772y 7277 MW PX).
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accomplish this if 7% were MmHw avwn.

THINKING IT OVER

1. Moo maintained in his question that we know that 9%17 is 7> 2YW» since
the "2 of 7¥n is derived from 7.° In the answer mo21n does not assume that
anymore.' Why indeed do we not assume that ''7> own ¥n since it is
derived from a »121 of 721"

2. mvo1n explains that later we derive from the Xin that *X27nX 77> Dwn X,
However, the question remains how did the Xin know that 7xm is 7 DWwn,
perhaps it is MW own and indeed a 2"va vx or by a mwp will not be
effective if he places it 7¥n2?"?

? See footnote # 3.

1 See footnote # 5.

" This question is (seemingly) even stronger if we assume (as m2o1n does) that the inclusion of 137 is
based on a 7921 1191 992 (see footnote # 3).

' See 7w X >,

1 See »2x 1.

3

TosfosInEnglish.com



